
making everyday smoother
FITTING INSTRUCTIONS

• Increased comfort • Better driveability • More safety

VB-SemiAir 1552350016

Chassis reinforcement
 VB-SA NCV3 3,5t   



2 V2.0making everyday smoother

Revision table

Document number 730155022020

New version: V2.0 Old version: V1.0

Release date (yyyy-mm-dd): 2018-06-04

Page (new): Changes:

5, 11, 17, 23, 29, 35 Table updated

© 2021, VB-Airsuspension B.V.

Alle rechten voorbehouden. Niets uit deze uitgaven mag worden verveelvoudigd en/of openbaar gemaakt door 
middel van druk, fotokopie, microfi lm of op welke andere wijze dan ook, zonder voorafgaande schriftelijke 
toestemming van VB-Airsuspension B.V. Dit geldt ook voor de bijbehorende tekeningen en schema’s.

Alle Rechte vorbehalten. Vervielfältigung und/oder Veröff entlichung durch Nachdruck, Fotokopie, Mikrofi lm oder 
auf jede andere Art – auch auszugsweise – ohne vorherige schriftliche Genehmigung von VB Airsuspension ist 
nicht zulässig. Dies gilt auch für die zugehörigen Zeichnungen und Pläne.

All rights reserved. No part of this publication may be reproduced, stored in a retrieval system, or transmitted in 
any form or by any means, electronic, mechanical, photocopying, recording or otherwise, without the publisher’s 
prior consent. That does also count for the schemes and drawings.

Reproduction interdite. Toute reproduction, tout enregistrement dans une base de données ou toute transmission 
sous toute forme ou par tout moyen : électronique, mécanique, photocopie, enregistrement ou autre, de tout ou 
partie de cette publication, est formellement interdit(e) sans l’autorisation préalable de VB-Airsuspension B.V. Ceci 
est aussi valable pour les dessins et les schémas.



V2.0 3making everyday smoother

1. If the vehicle isn’t equiped with a VB-SemiAir, 
remove the bump stops.

If the vehicle is equiped with a VB-SemiAir, 
remove the air springs (with the brackets). Don’t 
remove the air tubes, fi lling valves, compressor or 
control panel. 

2. Disconnect the wiring harness from the chassis, 
at the indicated places. 

Remove the bolt of the stabiliser (at the chassis).  

Remove the protective coating.

Hold the chassis reinforcement brac-
ket to the chassis, to determin the area 
where the protective coating needs to 
be removed.

3. Apply some glue to the chassis, in the area where 
the (bump stop bracket) plate will be placed.

Use glue that is supplied by VB-
Airsuspension. VB-A article number 
5400700002.

4. Slide the plate in to the bracket of the bump stop.

Slide the plate in to the bracket of the 
bump stop to determin the area where 
the glue needs to be applied.

Before applying the glue, make sure 
that the surface is properly cleaned 
and grease-proof! 



4 V2.0making everyday smoother

If you have Xenon headlights 
you need to make the following 
adjustment to the left (green dot) 
reinforcement bracket (105 235 
0114), before you go to step 5.

403
315

120

52



V2.0 5making everyday smoother

A B

Use glue that is supplied by VB-
Airsuspension. VB-A article number 
5400700002.

Mount the plate as shown in the image.
The thin plate must be between the 
chassis and the (thick) plate.   

5. Apply some glue to the inside of the chassis 
reinforcement bracket.

6. Mount the chassis reinforcement bracket to the 
chassis. 

Notice the colour marks on the sepa-
rate parts. This is to defi ne the position
on the car. A black dot is the for right-
side  and a green dot for the left-side.

7. Mount the air spring assembly to the chassis 
reinforcement bracket.

Nm 2x Bolt M8x16 (B)
2x Washer M8 (B)

20 Nm

Nm

2x Original bolt and nut (A)
2x Washer M12 Ø30 (A)
2x Bolt M12x120 **
2x Washer M12 **
2x Lock nut M12 **104 Nm

Nm 8x Bolt M8x20
8x Washer M8

20 Nm

If the vehicle isn’t equiped with 
VB-SemiAir, assemble the air spring 
assembly according to the fi tting 
instruction in the VB-SemiAir kit.

Before applying the glue, make sure 
that the surface is properly cleaned 
and grease-proof! 

** If the vehicle isn’t equiped with a roll stabiliser, use 
these bolts, nuts and washers. Always use washer 
M12 Ø30 on the inside of the chassis.



6 V2.0making everyday smoother

8. Use a tyre valve to pump some air-pressure into 
the air springs and a jack on the rear end of the 
chassis reinforcement bracket. This is to press 
the chassis reinforcement properly against the 
chassis until the glue has hardened. 

The glue should harden for at least 5
hours, before the pressure of the air-
springs and jack can be released!

9. Seal all edges of the chassis reinforcement 
bracket, so moisture and dirt can’t get between 
the chassis and bracket. Use the glue to seal the 
edges.

Use glue that is supplied by VB-
Airsuspension. VB-A article number 
5400700002.

10. Spray the area, where the protective coating was 
removed, with an anti-corrosive protection

11. Press the fi xing ties on the weld studs. Fasten 
the wiring harness to the chassis reinforcement 
bracket using the fi xing ties.

3x Fixing ties

If the vehicle wasn’t equiped with 
VB-SemiAir, fi nish the assembly of the 
VB-SemiAir kit according to that fi tting 
instruction.



V2.0 7making everyday smoother



Dealer:

730155022020 -EN
 V

2.0

VB-Airsuspension is producing, as one of the few European manufacturers, a very broad range of different (air)-suspension systems. From reinforced 

coil springs, semi-air-suspension systems, up to complete full air-suspension systems, we provide solutions for customers with different vehicle 

types, like ambulances, minibuses, car transporters, motorhomes, etc.  Now you can see why more and more commercial vehicle body manufacturers 

specify  VB-Airsuspension on their vehicles.

www.vbairsuspension.com


